Adger 1994 Dissertation Data; Glosses corrected by ASGS consultant. Variation in acceptability judgments reported in notes

's toigh leinn coffaidh

cop agreeable with.1pl coffee

We like coffee.

Inflected prepositions

(Adger 1994)

's toigh leatha coffaidh

cop agreeable with.3sg.f coffee

She likes coffee

Inflected prepositions

(Adger 1994)

's toigh leis coffaidh

cop agreeable with.3sg.m coffee

He likes coffee'

Inflected prepositions

(Adger 1994)

's toigh leat coffaidh

cop agreeable with.2sg coffee

You (sg) like coffee

Inflected prepositions

(Adger 1994)

's toigh leam coffaidh

cop agreeable with.1sg coffee

'I like coffee'

Inflected prepositions

(Adger 1994)

's toigh leibh coffaidh

cop agreeable with.2pl coffee

You (pl) like coffee

Inflected prepositions

(Adger 1994)

's toigh leotha coffaidh

cop agreeable with.3pl coffee

They like coffee

Inflected prepositions

(Adger 1994)

's toigh le Mairi coffaidh

cop agreeable with Mary coffee

'Mary likes coffee'

[agreement in SG: complementarity between overt agreement and overt arguments]

(Adger 1994)

Bhuaillinn an cat

strike.cond.1pl the cat

'I would strike the cat'

[only verbal inflection for subject agreement in SG occurs in 1st person singular conditional]

(Adger 1994)

Bhuaileamaid an cat  

strike.cond.1pl the cat

'We would strike the cat '

[only verbal inflection for subject agreement in SG occurs in 1st person singular conditional, 1pl is found but is felt archaic; ASGS consultant reports it to be “formal”]

(Adger 1994)

Bhuaileadh tu an cat

strike.cond 2sg the cat

'You (sg) would strike the cat'

[only verbal inflection for subject agreement in SG occurs in 1st person singular conditional, 1pl is found but is felt archaic]

(Adger 1994)

Bhuaileadh thu an cat

strike.cond 2sg the cat

'You (sg) would strike the cat'

[tu and thu are interchangeable in this context]

(Adger 1994)

Bhuaileadh e an cat

strike.cond 3sgm the cat

He would strike the cat

[only verbal inflection for subject agreement in SG occurs in 1st person singular conditional, 1pl is found but is felt archaic]

(Adger 1994)

Bhuaileadh i an cat

strike.cond 3sgf the cat

She would strike the cat'

[only verbal inflection for subject agreement in SG occurs in 1st person singular conditional, 1pl is found but is felt archaic]

(Adger 1994)

Bhuaileadh sinn an cat

strike.cond 1pl the cat

'We would strike the cat'

[only verbal inflection for subject agreement in SG occurs in 1st person singular conditional, 1pl is found but is felt archaic; ASGS consultant prefers sinne “we emphatic” to sinn]

(Adger 1994)

Bhuaileadh sibh an cat

strike.cond 2pl the cat

'You (pl) would strike the cat'

[only verbal inflection for subject agreement in SG occurs in 1st person singular conditional, 1pl is found but is felt archaic]

(Adger 1994)

Bhuaileadh iad an cat

strike.cond  3pl the cat

they would strike the cat

[only verbal inflection for subject agreement in SG occurs in 1st person singular conditional, 1pl is found but is felt archaic]

(Adger 1994)

Bhuaileadh am balach an cat

strike.cond the boy the cat

The boy would strike the cat

[only verbal inflection for subject agreement in SG occurs in 1st person singular conditional, 1pl is found but is felt archaic]

(Adger 1994)

*Bhuaileamaid sinn an uinneag

strike.cond.1pl 1pl det window

'We would strike the window'

[complementarity between argument and overt pronoun holds in 1pl]

(Adger 1994)

's toigh leum fhin is thu fhein coffaidh

cop agreeable with.1sg emph and you emph coffee

'Me and you like coffee'

[emphatic particles are necessary additions to all pronouns in coordinate structure; fhin is used with 1st person singular and plural, fhein is used with all other persons -- This is a property of Skye dialect, Harris uses fhein in all contexts]

(Adger 1994)

Bhuail mi fhin is thu fhein an cat

strike.past 1sg emph and you emph the cat

'Me and you struck the cat'

[emphatic particles are necessary additions to all pronouns in coordinate structure]

(Adger 1994)

Tha mi a' feuchainn ri thu fhein a mharbhadh

Be.pres 1sg prog trying to 2sg emph trans kill

'I am trying to kill you'

[ri is a preposition that marks the complement of the verb feuchainn 'try,' inflection like other pronouns is expected but not seen. Judgment is as reported by Adger. ASGS consultant disprefers this ri thu form to riut]

[“prog” is an R=E aspect marker]

(Adger 1994)

*Tha mi a' feuchainn riut fhein a mharbhadh

Be.pres 1sg prog trying to.2sg prog trans murder

'I am trying to murder you'

[inflection on ri is ungrammatical. ASGS prefers this form to ri thu]

(Adger 1994)

*'s toigh leum thu fhein is fhin coffaidh

cop agreeable with.1sg 2s emph and emph coffee

'Me and you like coffee'

[head extraction from the rightmost conjunct must be blocked because this is ungrammatical]

(Adger 1994)

*Bhuail Daibhidh mise agus bhreab mise

strike.past David 1s-emph and kick.past 1s-emph

'David struck me and kicked me'

[head movement of V from VP to a higher node where it dominates VP-internal subject is not allowed from inside a coordinated VP; this sentence is acceptable when mise is interpreted as the subject (i.e. kicked in the air)]

(Adger 1994)

bhuailinn an uinneag

strike.cond.1sg the window

'I would strike the window'

[pronouns and overt DPs pattern similarly in certain parts of the agreement paradigm]

(Adger 1994)

bhuaileamaid an uinneag

strike.cond.1pl the window

'We would strike the window'

[pronouns and overt DPs pattern similarly in certain parts of the agreement paradigm]

(Adger 1994)

*bhuailinn mi an uinneag

strike.cond.1sg 1s the window

'I would strike the window'

[pronouns and overt DPs pattern similarly in certain parts of the agreement paradigm]

(Adger 1994)

*bhuaileamaid sinn an uinneag

strike.cond.1pl 1pl the window

'We would strike the window'

[pronouns and overt DPs pattern similarly in certain parts of the agreement paradigm]

(Adger 1994)

bhuaileadh an duine an uinneag

strike.cond the man the window

'The man  would strike the window'

[pronouns and overt DPs pattern similarly in certain parts of the agreement paradigm]

(Adger 1994)

bhuaileadh  sibh an uinneag

strike.cond 2pl the window

You would strike the window

[pronouns and overt DPs pattern similarly in certain parts of the agreement paradigm]

(Adger 1994)

bhuaileadh e an uinneag

strike.cond 3sg the window

'The man/you/he would strike the window'

[pronouns and overt DPs pattern similarly in certain parts of the agreement paradigm]

(Adger 1994)

's toigh leam do bhualadh

cop agreeable with.1sg poss.2sg strike.vn

'I like hitting you

[object pronouns with verbal noun shows up as possessive pronoun]

(Adger 1994)

's toigh leam a bhualadh

cop agreeable with.1sg poss.3sgm strike.vn

I like hitting him/it.

[object pronouns with verbal noun shows up as possessive pronoun]

(Adger 1994)

's toigh leam a bualadh

cop agreeable with.1sg poss.3sgf strike.vn

I like hitting her

[object pronouns with verbal noun shows up as possessive pronoun]

(Adger 1994)

's toigh leam ar bualadh

cop agreeable with.1sg poss.1pl strike.vn

I like hitting us

[object pronouns with verbal noun shows up as possessive pronoun]

(Adger 1994)

's toigh leam ur bualadh

cop agreeable with.1sg poss.2pl strike.vn

I like hitting you (pl)

[object pronouns with verbal noun shows up as possessive pronoun]

(Adger 1994)

's toigh leam am bualadh

cop agreeable with.1sg poss.3pl strike.vn

I like hitting them

[object pronouns with verbal noun shows up as possessive pronoun]

(Adger 1994)

's toigh leam Daibhidh a bhualadh

cop agreeable with.1sg David tran strike.vn

'I like hitting David'

[Full NP object of an infinitive (verbal noun)]

(Adger 1994)

Tha e doirbh mo bhualadh

be.pres 3sg difficult poss.1sg strike.vn

'It is hard to hit me

[possessive pronouns as objects]

(Adger 1994)

Tha e doirbh do bhualadh

be.pres 3sg difficult poss.2s strike.vn

'It is hard to hit you

[possessive pronouns as objects]

(Adger 1994)

Tha e doirbh a bhualadh

be.pres 3sg difficult poss.3sgm strike.vn

It is hard to hit him/it.

[possessive pronouns as objects]

(Adger 1994)

Tha e doirbh a bualadh

be.pres 3sg difficult poss.3sgf strike.vn

It is hard to hit her/it.

[possessive pronouns as objects]

(Adger 1994)

Tha e doirbh ar bualadh

be.pres 3sg difficult poss.1pl strike.vn

It is hard to hit us

[possessive pronouns as objects]

(Adger 1994)

Tha e doirbh ur bualadh

be.pres 3sg difficult poss.2pl strike.vn

't is hard to hit you (pl)

[possessive pronouns as objects]

(Adger 1994)

Tha e doirbh am bualadh

be.pres 3sg difficult poss.3pl strike.vn

'It is hard to hit them'

[possessive pronouns as objects]

(Adger 1994)

Tha e doirbh Daibhidh a bhualadh

Be.pres it difficult David tran strike.vn

'It is hard to hit David'

[Full NP object of an infinitive (verbal noun)]

(Adger 1994)

*Tha e doirbh tu a bhualadh

Be.pres it difficult you (Prt) strike.vn

'It is difficult to hit you'

[tran and pronoun cannot co-occur]

(Adger 1994)

's e a' cheist sin a fhreagairt a tha doirbh

Cop 3sg the question that tran answer.vn wh-comp be.pres difficult

'It's answering that question that's difficult'

[infinitives may be clefted suggesting they are maximal constituents; ASGS consultant reports that this puts emphasis on the question (as opposed to ‘S e freagairt a’cheist sin a tha doirbh which puts the emphasis on the question]

(Adger 1994)

's e tha doirbh ach a' cheist sin a fhreagairt

comp 3sgm be.pres difficult but the question that tran answer.vn

'What's difficult is to answer that question'

[infinitives may be pseudoclefted suggesting they are maximal constituents]

(Adger 1994)

Tha e doirbh ach tha e math a' cheist sin a fhreagairt

be.pres 3sgm difficult but bepres 3sgm good the question deictic tran answer.vn

'It is hard, but it is good, to answer that question'

[infinitives right-node raised, suggesting they are maximal constituents]

(Adger 1994)

Faodaidh Daibhidh Iain a bhualadh

may David Ian tran strike.vn

'David may hit Ian'

[modal faoidaidh with infinitive complement]

(Adger 1994)

Faodaidh Iain a bhualadh le Daibhidh

may Ian tran strike.vn with David

'Ian may be hit by David'

‘Ian may hit him using David’

[Iain occupies subject position but is assigned a theme role from the V]

 (Adger 1994)

Faodaidh Iain a bhualadh comhla ri Daibhidh

May Iain tran strike.vn along  with David

‘Iain along with David may strike him’

(Elicited from ASGS consultant)

Faoidaidh Iain a bhith air a bhualadh le Daibhidh

May Ian prog be.vn perf  tran hit.vn with David

“Iam may be hit by David” 

(Elicited passive corresponding to Faodaidh Iain a bhualadh le Daibhidh, from ASGS consultant)

's e am ministear a tha mi a' ceilidh air a-nochd

Cop 3sm the minister wh-C be.pres 1sg prog visit.vn on tonight

'It's the minister that I'm visiting tonight'

['s e clefts DP or CP (non-predicates), while 's ann clefts predicates such as AdvP or AspP. Form slightly corrected from Adger (added air)]

(Adger 1994)

*'S ann am ministear a tha mi a' ceilidh air a-nochd

Cop in.3sgm the minister wh-Comp be.pres 1sg prog visit.vn tonight

'It's the minister that I'm visiting tonight'

['s e clefts DP or CP (non-predicates), while 's ann clefts predicates such as AdvP or AspP]

(Adger 1994)

{'s e} gun do bhuail thu an cat a tha mi a' ciallachadh

Cop 3sgm that Past Strike.past 2sg the cat wh-C be.pres 1sg prog mean.vn

'It's that you struck the cat that I mean'

[two clefting particles in SG, 's e and 's ann: 's e clefts DP or CP (non-predicates)]

(Adger 1994)

* 'S ann gun do bhuail thu an cat a tha mi a' ciallachadh

Cop in.3sgm that Past Strike.past 2sg the cat wh-C bepres 1sg prog mean.vn

'It's that you struck that cat that I mean'

[two clefting particles in SG, 's e and 's ann: 's e clefts DP or CP (non-predicates)]

(Adger 1994)

*'s e a-nochd a tha mi a' ceilidh air ministear

Cop 3sgm tonight wh-C be.pres 1sg prog visit.vn on minister

'It's tonight that I'm visiting a minister'

[two clefting particles in SG, 's e and 's ann: 's ann clefts predicates such as AdvP and AspP]

(Adger 1994)

's ann a-nochd a tha mi a' ceilidh air ministear

Cop in.3sgm tonight wh-C be.pres 1sg prog visit.vn on minister

'It's tonight that I'm visiting a minister'

[two clefting particles in SG, 's e and 's ann: 's ann clefts predicates such as AdvP and AspP]

(Adger 1994)

*'s e a' ceilidh air ministear a tha mi a-nochd

Cop 3sgm prog visit.vn on minister wh-C be.pres 1sg tonight

'It's visiting a minister that I am tonight'

[two clefting particles in SG, 's e and 's ann: 's ann clefts predicates such as AdvP and AspP]

(Adger 1994)

's ann a' ceilidh air ministear a tha mi a-nochd

Cop in.3sgm prog visit.vn on minister wh-C be.pres 1sg tonight

'It's visiting a minister that I am tonight'

[two clefting particles in SG, 's e and 's ann: 's ann clefts predicates such as AdvP and AspP]

(Adger 1994)

's e a' cheist sin a fhreagairt a tha doirbh

cop 3sgm the question that tran answer.vn wh-C be.pres difficult

'It's answering that question that's difficult'

[it is possible to cleft infinitive + fronted object and these come with 's e]

(Adger 1994)

*'s ann a' cheist sin a fhreagairt a tha doirbh

Cop in.3sgm the question that tran answer.vn wh-C be.pres difficult

'It's answering that question that's difficult'

 (Adger 1994)

*'s e falbh a tha doirbh

Cop 3sgm leave.vn wh-C be.pres difficult

'It's leaving that is difficult'

[Judgment is as listed by Adger. ASGS consultant prefers this form to ‘S ann falbh a tha doirbh]

(Adger 1994)

's ann falbh a tha doirbh

Cop in.3sgm leave.vn wh-C be.pres difficult

'It's leaving that is difficult'

[Judgment is as listed by Adger. ASGS consultant disprefers this form, and prefers ‘S e falbh a tha doirbh]

(Adger 1994)

Feumaidh Daibhidh am balach a bhualadh

must David the boy trans strike.vn

'David must strike the boy'

 (Adger 1994)

Feumaidh Daibhidh cat a bhualadh

Must David cat trans strike.vn

'David must hit a cat'

(Adger 1994)

Feumaidh a' cho-labhairt mairsinn seachdainn

Must the conference last.vn week

'The conference must last a week'

[Measure Phrasess in SG are barred in participating in fronted object constructions]

(Adger 1994)

*Feumaidh a' cho-labhairt seachdainn a mhairsinn

Must the conference a week tran last.vn

'The conference must last a week'

[Measure Phrases in SG are barred in participating in fronted object constructions; ASGS consultant vehemently disagrees with this judgment]

(Adger 1994)

Feumaidh a' cho-labhairt cosg tri mile not

Must the conference cost three thousand pounds

'The conference has to cost 3000 pounds'

[Measure Phrasess in SG are barred in participating in fronted object constructions; ASGS consultant vehemently disagrees with this judgment]

(Adger 1994)

*Feumaidh a' cho-labhairt tri mile not a chosg

Must the conference three thousand pounds Agr cost.vn

'*The conference has to cost 3000 pounds'

[Measure Phrasess in SG are barred in participating in fronted object constructions; ASGS consultant vehemently disagrees with this judgment]

(Adger 1994)

Tha Daibhidh a' bualadh cat

Be.pres David prog strike.vn cat
'David is striking a cat'

 (Adger 1994)

Feumaidh Daibhidh an cat a bhualadh

Must David the cat tran strike.vn

'David must strike the cat'

 (Adger 1994)

Tha Daibhidh a' bualadh a' chait

Be.pres David ASP strike.vn the cat.gen

'David is striking a cat'

[Genitive case marking after progress. ASGS speaker also allows Common (nominative) case here (an cat), but says the genitive is the form that would be taught in school]

(Adger 1994)

Tha a' cho-labhairt a' mairsinn seachdainn

be.pres the conference prog last.vn week

'The conference is lasting a week'

[progressive construction which allows VO order is well formed but the perfective construction which forces OV order is ungrammatical]

(Adger 1994)

*Tha a' cho-labhairt air seachdainn a mhairsinn

be.pres the conference perf a week tran last.vn

'The conference has lasted a week'

[progressive construction which allows VO order is well formed but the perfective construction which forces OV order is ungrammatical; This sentence is judged grammatical by ASGS consultant. She offers as an alternative Tha a cho-labhairt air mairsinn seachdainn]

(Adger 1994)

Tha a' cho-labhairt a' cosg tri mile not

be.pres the conference prog cost three thousand pounds

'The conference is costing 3000 pounds'

[progressive construction which allows VO order is well formed but the perfective construction which forces OV order is ungrammatical]

(Adger 1994)

*Tha a' cho-labhairt air tri mile not a chosg

be.pres the conference 0erf three thousand pounds tran cost.vn

'The conference has cost 3000 pounds'

[progressive construction which allows VO order is well formed but the perfective construction which forces OV order is ungrammatical; Judgment reported comes from Adger. This sentence is judged Acceptable by the ASGS consultant]

(Adger 1994)

*Tha a' cho-labhairt air a mhairsinn seachdainn

be.pres the conference asp tran last.vn week

'The conference has lasted a week'

[measure phrase is ungrammatical in base position in perfective constructions; ASGS consultant that Tha a’ cho-labhairt ar mairsinn seachdainn is acceptable ]

(Adger 1994)

Tha Daibhidh a' falbh

Be.pres David prog leave.vn

'David is leaving'

[forms of the verb bith 'be' mark the relationship between S and R. tha is present tense of bith]

(Adger 1994)

Bha Daibhidh a' falbh

Be.past David prog leave.vn

'David was leaving'

[forms of the verb bith 'be' mark the relationship between S and R. bha is past tense of bith]

(Adger 1994)

Bithidh Daibhidh a' falbh

Be.fut David prog leave.vn

'David will be leaving '

[forms of the verb bith 'be' mark the relationship between S and R. bithidh is future tense of bith]

(Adger 1994)

Tha Daibhidh air falbh

Be.pres/ David perf leave.vn

'David has left'

[air marks E<R (perfect)]

(Adger 1994)

Bha Daibhidh air falbh

Be.past David perf leave.vn

'David had left'

[air marks E<R (perfect)]

(Adger 1994)

Bithidh Daibhidh air falbh

Be.fut David perf leave.vn

'David will have left'

[air marks E<R (perfect)]

(Adger 1994)

Tha Daibhidh gu falbh

Be.pres David pros leave.vn

'David is be about to leave'

[gu marks E>R (prospective)]

(Adger 1994)

Bha Daibhidh gu falbh

Be.past David pros leave.vn

'David is/was/will be about to leave'

[gu marks E>R (prospective)]

(Adger 1994)

Tha Daibhidh air a bhidh a' falbh [airson leth uair a thide]

Be.pres David perf neut be.vn prog leave.vn [for  half hour prt time]

'David has been leaving for ½ an hour’ 

[an auxiliary can carry the aspectual particle. Literal translation corrected by ASGS consultant]

(Adger 1994)

Bha Daibhidh air a bhidh a' falbh [airson leth uair a thide]

Be.Past David perf neut be.vn prog leave.vn [for  half hour prt time]

'David had been leaving’

[an auxiliary can carry the aspectual particle. Literal translation corrected by ASGS consultant]

(Adger 1994)

Tha Daibhidh gu bhith a' falbh

Be.pres David pros be.vn prog leave.vn

'David is about to be leaving'

[an auxiliary can carry the aspectual particle; Literal translation corrected by ASGS consultant]

(Adger 1994)

Bha Daibhidh gu bhith a' falbh

Be.past David prosp be.vn prog leave.vn

'David was about to be leaving'

[an auxiliary can carry the aspectual particle. Literal translation corrected by ASGS consultant]

(Adger 1994)

Tha Daibhidh gu bhith air a bhith a' falbh

Be.pres David pros be.vn perf be.vn prog leave.vn

'David is about to have left'

[auxiliary aspect constructions allow for composition of aspectual particles; ASGS consultant reports this is an unnatural sounding sentence]

(Adger 1994)

Tha Daibhidh air a bhith gu bhith a' falbh

Be.pres David perf be.vn pros be.vn prog leave.vn

'David has been about to leave'

[auxiliary aspect constructions allow for composition of aspectual particles; ASGS consultant report that this connotes that he’s still lingering around]

(Adger 1994)

Tha Daibhidh air a bhith a' falbh

Be.pres David perf neut be.vn prog leave.vn

'David has left'

[the simple aspectual marker must come finally in compositions of aspectual particles]

(Adger 1994)

*Tha Daibhidh a' a bhith air falbh

Be-Past David prog neut be.vn perf leave.vn

'David has left'

[the simple aspectual marker must come finally in compositions of aspectual particles]

(Adger 1994)

Tha Daibhidh gu bhith a falbh

be.pres David pros be.vn prog leave.vn

'David is about to leave' 

[gu, prospective marker, behaves in the same way as air, the perfective]

(Adger 1994)

Tha dà chlach dheug de chudrom [ann an] Daibhidh

Be.pres two stone teen of weight [in] David

'David weighs twelve stone'

[verbs in measure phrases act like copulas and can be replaced by them]

(Adger 1994)

Tha trì not air an leobhar seo

Be.pres three pounds on the book this

This book costs three pounds'

[verbs in measure phrases act like copulas and can be replaced by them. Literal translation is as given by Adger. ASGS consultant reports that this does NOT mean costs, but denotes a situation where 3 pounds are literally on the book or 3 pounds are being bet on the book.]

(Adger 1994)

Tha a' cho-labhairt air a bhith a' mairsinn seachdainn

be.pres the conference prog ?? be.vn prog last.vn week

'The conference has been lasting a week

[measure phrase structures with aux bith and R=E aspectual particle a' should be well-formed]

(Adger 1994)

